



**Himachal Pradesh University**  
NAAC Accredited 'A' Grade University

Tabulation Sheet in respect of V th Semester Examination held in OCTOBER 2025. The Result of the student has been shown against their names and roll no.

**Abbreviations**

MM - Maximum Marks	CP - Credit Point ( Credit * Grade)	M* - Pass With Grace	M. O - Marks Obtained	* - CCA for the subject not entered
CCA - Continuous Comprehensive Assessment	TP - Total Point	CGPI - Cumulative Grade Point Index	M.M - Maximum Marks	** - TE for the subject not entered
TE - Term End	TC - Total Credits	Dis - Discrepancy if any	M.P.M - Minimum Passing Marks	*** - Both TE and CCA not entered
PR - Practical	GPI - Grade Point Index	GR - Grace	RLA - Result Late due to Award	# - Practical Marks for the subject not entered
A, ABS - Absent	UMC - Unfair Means Case	CC - Cancelled	RLIA - Result Late due to Internal assessment	#*** - Pr. TE and CCA marks not entered

**Grading :-**

Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade	Percent Marks	Grade Point	Grade
95% and above	10.0	S+	70 to less than 75% Marks	7.5	A++	40 to less than 50% Marks	5.0	C
90 to less than 95% Marks	9.5	S	65 to less than 70% Marks	7.0	A+	less than 40% Marks	0.0	F
85 to less than 90% Marks	9.0	O++	60 to less than 65% Marks	6.5	A			
80 to less than 85% Marks	8.5	O+	55 to less than 60% Marks	6.0	B+			
75 to less than 80% Marks	8.0	O	50 to less than 55% Marks	5.5	B			

**Course : BBA( Regular Batch)**

**Semester : V th**

**ExamYear : OCTOBER 2025**

**College Name : Govt.College Hamirpur**

**Date of Result Declaration : 21-January-2026**

<b>UNIV ROLL NO : 5190360057</b> <b>CAND.NAME : PANKAJ KUMAR</b> <b>REG NO : 19-HM-63</b>	FATHER'S NAME : SANJAY KUMAR										MOTHER'S NAME : ANJNA KUMARI					Exam Type : Re-Appear							
	<b>Paper Detail</b>																						
	Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
QuantitativeTechniques for Management ( BBA501 )	24	13	30	32^A	32	70	-	-	-	1	56	45	100	B+	6.0	6	36.0	6.88	-	A+	Pass		
Legal Aspects of Business ( BBA502 )	24	13	30	36	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0						
HRD:Systems and Strategies ( BBA503(C) )	25	13	30	56	32	70	-	-	-	-	81	45	100	O+	8.5	6	51.0						
Training and Management Development ( BBA504(C) )	24	13	30	37	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0						
										1	MO/MM- 258 / 400					TC-24	TCP - 165.00						
<b>UNIV ROLL NO : 5210360002</b> <b>CAND.NAME : ABHISHEK</b> <b>REG NO : 21-HM-1524</b>	FATHER'S NAME : SH.VIJAY KUMAR										MOTHER'S NAME : SMT.SUMAN DEVI					Exam Type : Re-Appear							
	<b>Paper Detail</b>																						
	Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M										
QuantitativeTechniques for Management ( BBA501 )	18	13	30	32	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0	6.13	6.60	A	Pass		
Legal Aspects of Business ( BBA502 )	20	13	30	44^	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0						
Investment Banking & Financial Services ( BBA503(A) )	26	13	30	35	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0						
Investment Analysis & Portfolio Management ( BBA504(A) )	25	13	30	32	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0						
										-	MO/MM- 232 / 400					TC-24	TCP - 147.00						

<b>UNIV ROLL NO : 5210360021</b> <b>CAND.NAME : HARSH</b> <b>REG NO : 20-HM-1298</b>			FATHER'S NAME : SUNEEL KUMAR						MOTHER'S NAME : RENU KUMARI						Exam Type : Re-Appear										
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	18	13	30	35^	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0	6.38	6.66	A	Pass				
Legal Aspects of Business ( BBA502 )	20	13	30	36	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0								
Investment Banking & Financial Services ( BBA503(A) )	25	13	30	40	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	25	13	30	43	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0								
										-	MO/MM- 242 / 400					TC-24	TCP - 153.00								
<b>UNIV ROLL NO : 5210360027</b> <b>CAND.NAME : MANEESH KUMAR SHUKLA</b> <b>REG NO : 21-HM-1541</b>			FATHER'S NAME : SOM DUTT						MOTHER'S NAME : ANJNA KUMARI						Exam Type : Re-Appear										
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	23	13	30	32*^	32	70	-	-	-	1	55	45	100	B+	6.0	6	36.0	6.00	-	A	Pass				
Legal Aspects of Business ( BBA502 )	21	13	30	33	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0								
HRD:Systems and Strategies ( BBA503(C) )	27	13	30	35	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0								
Training and Management Development ( BBA504(C) )	24	13	30	35	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
										1	MO/MM- 230 / 400					TC-24	TCP - 144.00								
<b>UNIV ROLL NO : 5210360028</b> <b>CAND.NAME : NAGITA KUMARI</b> <b>REG NO : 21-HM-1542</b>			FATHER'S NAME : KAMAL KANT						MOTHER'S NAME : MANJU KUMARI						Exam Type : Re-Appear										
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	26	13	30	35^	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0	7.00	7.44	A++	Pass				
Legal Aspects of Business ( BBA502 )	27	13	30	43	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0								
HRD:Systems and Strategies ( BBA503(C) )	28	13	30	40	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0								
Training and Management Development ( BBA504(C) )	29	13	30	36	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0								
										-	MO/MM- 264 / 400					TC-24	TCP - 168.00								
<b>UNIV ROLL NO : 5210360030</b> <b>CAND.NAME : NIKHIL DOGRA</b> <b>REG NO : 21-HM-1632</b>			FATHER'S NAME : RAMESH CHAND						MOTHER'S NAME : PARVEEN KUMARI						Exam Type : Re-Appear										
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	19	13	30	16^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA501)				
Legal Aspects of Business ( BBA502 )	22	13	30	37	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
Consumer Behaviour ( BBA503(B) )	22	13	30	34	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0								
Retail Management ( BBA504(B) )	23	13	30	34	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0								
										-	MO/MM- / 400					TC-24	TCP - -								
<b>UNIV ROLL NO : 5210360031</b> <b>CAND.NAME : NIKHIL THAKUR</b> <b>REG NO : 21-HM-1544</b>			FATHER'S NAME : VINOD KUMAR						MOTHER'S NAME : RITA DEVI						Exam Type : Re-Appear										
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	16	13	30	33^	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0	6.00	6.40	A	Pass				
Legal Aspects of Business ( BBA502 )	23	13	30	39^	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0								
Consumer Behaviour ( BBA503(B) )	22	13	30	34	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0								
Retail Management ( BBA504(B) )	24	13	30	39	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0								
										-	MO/MM- 230 / 400					TC-24	TCP - 144.00								

<b>UNIV ROLL NO : 5232670001</b> <b>CAND.NAME : AAKASH RANA</b> <b>REG NO : 23-HM-72</b>			FATHER'S NAME : ASHOK KUMAR						MOTHER'S NAME : SHASHI BALA						Exam Type : Fresh							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	17	13	30	40	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0	5.75	-	B+	Pass	
Legal Aspects of Business ( BBA502 )	13	13	30	34	32	70	-	-	-	-	47	45	100	C	5.0	6	30.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	43	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	41	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0					
										-	MO/MM- 219 / 400					TC-24	TCP - 138.00					
<b>UNIV ROLL NO : 5232670002</b> <b>CAND.NAME : AAKASH SHARMA</b> <b>REG NO : 23-HM-75</b>			FATHER'S NAME : ASHWANI KUMAR						MOTHER'S NAME : ASHA RANI						Exam Type : Fresh							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	17	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA501)	
Legal Aspects of Business ( BBA502 )	20	13	30	48	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	49	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	43	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0					
										-	MO/MM- / 400					TC-24	TCP - -					
<b>UNIV ROLL NO : 5232670003</b> <b>CAND.NAME : ABHA THAKUR</b> <b>REG NO : 23-HM-145</b>			FATHER'S NAME : SANJEEV KUMAR						MOTHER'S NAME : RAJNI KUMARI						Exam Type : Fresh							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	18	13	30	46	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0	6.25	-	A	Pass	
Legal Aspects of Business ( BBA502 )	13	13	30	32	32	70	-	-	-	-	45	45	100	C	5.0	6	30.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	44	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	49	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0					
										-	MO/MM- 235 / 400					TC-24	TCP - 150.00					
<b>UNIV ROLL NO : 5232670004</b> <b>CAND.NAME : ABHISHEK SHARMA</b> <b>REG NO : 23-HM-125</b>			FATHER'S NAME : ANIL SHARMA						MOTHER'S NAME : ANJU SHARMA						Exam Type : Fresh							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	17	13	30	36	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0	5.63	6.08	B+	Pass	
Legal Aspects of Business ( BBA502 )	22	13	30	35	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	32	32	70	-	-	-	-	48	45	100	C	5.0	6	30.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	40	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0					
										-	MO/MM- 213 / 400					TC-24	TCP - 135.00					
<b>UNIV ROLL NO : 5232670005</b> <b>CAND.NAME : ABHISHEK SHARMA</b> <b>REG NO : 23-HM-103</b>			FATHER'S NAME : SANJAY KUMAR						MOTHER'S NAME : KALASO DEVI						Exam Type : Fresh							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	22	13	30	40	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0	7.75	7.37	O	Pass	
Legal Aspects of Business ( BBA502 )	24	13	30	45	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0					
Consumer Behaviour ( BBA503(B) )	25	13	30	60	32	70	-	-	-	-	85	45	100	O++	9.0	6	54.0					
Retail Management ( BBA504(B) )	24	13	30	60	32	70	-	-	-	-	84	45	100	O+	8.5	6	51.0					
										-	MO/MM- 300 / 400					TC-24	TCP - 186.00					

<b>UNIV ROLL NO : 5232670006</b> <b>CAND.NAME : ADITYA</b> <b>REG NO : 23-HM-87</b>			FATHER'S NAME : KISHORI LAL							MOTHER'S NAME : MAMTA DEVI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	19	13	30	39	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0	5.75	-	B+	Pass	
Legal Aspects of Business ( BBA502 )	16	13	30	37	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0					
Investment Banking & Financial Services ( BBA503(A) )	18	13	30	46	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	32	32	70	-	-	-	-	47	45	100	C	5.0	6	30.0					
										-	MO/MM- 222 / 400					TC-24	TCP - 138.00					
<b>UNIV ROLL NO : 5232670007</b> <b>CAND.NAME : AKANKSHA KUMARI</b> <b>REG NO : 23-HM-80</b>			FATHER'S NAME : DESH RAJ							MOTHER'S NAME : REKHA DEVI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	22	13	30	38	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0	7.13	-	A++	Pass	
Legal Aspects of Business ( BBA502 )	23	13	30	55	32	70	-	-	-	-	78	45	100	O	8.0	6	48.0					
Investment Banking & Financial Services ( BBA503(A) )	22	13	30	50	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	18	13	30	42	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0					
										-	MO/MM- 270 / 400					TC-24	TCP - 171.00					
<b>UNIV ROLL NO : 5232670008</b> <b>CAND.NAME : AKSHAY KUMAR</b> <b>REG NO : 23-HM-143</b>			FATHER'S NAME : RAVINDER KUMAR							MOTHER'S NAME : SUMAN DEVI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	18	13	30	36	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0	5.75	-	B+	Pass	
Legal Aspects of Business ( BBA502 )	18	13	30	43	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	32*	32	70	-	-	-	3	48	45	100	C	5.0	6	30.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	42	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0					
										3	MO/MM- 220 / 400					TC-24	TCP - 138.00					
<b>UNIV ROLL NO : 5232670009</b> <b>CAND.NAME : AKSHAY KUMAR</b> <b>REG NO : 23-HM-150</b>			FATHER'S NAME : SURESH KUMAR							MOTHER'S NAME : KANCHAN KUMARI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	17	13	30	46	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0	6.63	6.82	A+	Pass	
Legal Aspects of Business ( BBA502 )	18	13	30	50	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	56	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	37	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0					
										-	MO/MM- 255 / 400					TC-24	TCP - 159.00					
<b>UNIV ROLL NO : 5232670010</b> <b>CAND.NAME : AKSHIT THAKUR</b> <b>REG NO : 23-HM-92</b>			FATHER'S NAME : NARENDER KUMAR							MOTHER'S NAME : SANTOSH KUMARI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	17	13	30	36	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0	5.88	6.05	B+	Pass	
Legal Aspects of Business ( BBA502 )	22	13	30	40	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	40	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	39	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0					
										-	MO/MM- 225 / 400					TC-24	TCP - 141.00					

<b>UNIV ROLL NO : 5232670011</b> <b>CAND.NAME : AMAN THAKUR</b> <b>REG NO : 23-HM-113</b>		FATHER'S NAME : SUSHIL THAKUR										MOTHER'S NAME : POOJA DEVI				Exam Type : Fresh										
		<b>Paper Detail</b>																								
Paper Name		IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )		17	13	30	32*	32	70	-	-	-	1	49	45	100	C	5.0	6	30.0	6.13	6.14	A	Pass				
Legal Aspects of Business ( BBA502 )		20	13	30	48	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0								
Investment Banking & Financial Services ( BBA503(A) )		16	13	30	45	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0								
Investment Analysis & Portfolio Management ( BBA504(A) )		15	13	30	40	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
										1	MO/MM- 233 / 400					TC-24	TCP - 147.00									
<b>UNIV ROLL NO : 5232670012</b> <b>CAND.NAME : ANCHAL</b> <b>REG NO : 23-HM-104</b>		FATHER'S NAME : SANTOSH KUMAR										MOTHER'S NAME : SEEMA KUMARI				Exam Type : Fresh										
		<b>Paper Detail</b>																								
Paper Name		IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )		20	13	30	40	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0	6.13	-	A	Pass				
Legal Aspects of Business ( BBA502 )		24	13	30	46	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0								
Investment Banking & Financial Services ( BBA503(A) )		16	13	30	38	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0								
Investment Analysis & Portfolio Management ( BBA504(A) )		15	13	30	32	32	70	-	-	-	-	47	45	100	C	5.0	6	30.0								
										-	MO/MM- 231 / 400					TC-24	TCP - 147.00									
<b>UNIV ROLL NO : 5232670014</b> <b>CAND.NAME : ANJALI</b> <b>REG NO : 23-HM-76</b>		FATHER'S NAME : ASHWANI KUMAR										MOTHER'S NAME : RASHMA DEVI				Exam Type : Fresh										
		<b>Paper Detail</b>																								
Paper Name		IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )		18	13	30	49	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0	7.13	6.88	A++	Pass				
Legal Aspects of Business ( BBA502 )		25	13	30	44	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0								
Investment Banking & Financial Services ( BBA503(A) )		24	13	30	48	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0								
Investment Analysis & Portfolio Management ( BBA504(A) )		18	13	30	49	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0								
										-	MO/MM- 275 / 400					TC-24	TCP - 171.00									
<b>UNIV ROLL NO : 5232670015</b> <b>CAND.NAME : ANJALI THAKUR</b> <b>REG NO : 23-HM-95</b>		FATHER'S NAME : RAJ KUMAR										MOTHER'S NAME : URMILA DEVI				Exam Type : Fresh										
		<b>Paper Detail</b>																								
Paper Name		IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )		22	13	30	35	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0	6.38	-	A	Pass				
Legal Aspects of Business ( BBA502 )		26	13	30	46	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0								
Investment Banking & Financial Services ( BBA503(A) )		17	13	30	43	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0								
Investment Analysis & Portfolio Management ( BBA504(A) )		15	13	30	38	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0								
										-	MO/MM- 242 / 400					TC-24	TCP - 153.00									
<b>UNIV ROLL NO : 5232670016</b> <b>CAND.NAME : ANMOL THAKUR</b> <b>REG NO : 23-HM-99</b>		FATHER'S NAME : RAKESH KUMAR										MOTHER'S NAME : REENA KUMARI				Exam Type : Fresh										
		<b>Paper Detail</b>																								
Paper Name		IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )		17	13	30	35	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0	5.88	-	B+	Pass				
Legal Aspects of Business ( BBA502 )		22	13	30	47	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0								
Investment Banking & Financial Services ( BBA503(A) )		16	13	30	43	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
Investment Analysis & Portfolio Management ( BBA504(A) )		15	13	30	34	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0								
										-	MO/MM- 229 / 400					TC-24	TCP - 141.00									

<b>UNIV ROLL NO : 5232670017</b> <b>CAND.NAME : ANMOL THAKUR</b> <b>REG NO : 23-HM-159</b>			FATHER'S NAME : VIKRAM SINGH							MOTHER'S NAME : URMILA DEVI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	13	13	30	38	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0				Reappear Paper Code (BBA503(A))				
Legal Aspects of Business ( BBA502 )	13	13	30	48	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0								
Investment Banking & Financial Services ( BBA503(A) )	17	13	30	22	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	13	13	30	40	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0								
										-	MO/MM- / 400					TC-24	TCP --								
<b>UNIV ROLL NO : 5232670018</b> <b>CAND.NAME : ANSHITA SHARMA</b> <b>REG NO : 23-HM-124</b>			FATHER'S NAME : NARESH KUMAR							MOTHER'S NAME : POOJA KUMARI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	20	13	30	43	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0	6.63	-	A+	Pass				
Legal Aspects of Business ( BBA502 )	22	13	30	40	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0								
Investment Banking & Financial Services ( BBA503(A) )	22	13	30	49	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	40	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
										-	MO/MM- 251 / 400					TC-24	TCP - 159.00								
<b>UNIV ROLL NO : 5232670019</b> <b>CAND.NAME : ANUJ KUMAR</b> <b>REG NO : 23-HM-115</b>			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : NISHA DEVI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	29	13	30	60	32	70	-	-	-	-	89	45	100	O++	9.0	6	54.0	7.63	7.13	O	Pass				
Legal Aspects of Business ( BBA502 )	29	13	30	49	32	70	-	-	-	-	78	45	100	O	8.0	6	48.0								
Investment Banking & Financial Services ( BBA503(A) )	23	13	30	46	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	22	13	30	41	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0								
										-	MO/MM- 299 / 400					TC-24	TCP - 183.00								
<b>UNIV ROLL NO : 5232670020</b> <b>CAND.NAME : ARYAN</b> <b>REG NO : 23-HM-93</b>			FATHER'S NAME : PAWAN KUMAR							MOTHER'S NAME : POONAM KUMARI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	17	13	30	38	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	5.75	-	B+	Pass				
Legal Aspects of Business ( BBA502 )	25	13	30	43	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0								
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	32*	32	70	-	-	-	3	48	45	100	C	5.0	6	30.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	34	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0								
										3	MO/MM- 220 / 400					TC-24	TCP - 138.00								
<b>UNIV ROLL NO : 5232670021</b> <b>CAND.NAME : AYUSH CHAUHAN</b> <b>REG NO : 23-HM-85</b>			FATHER'S NAME : KARTAR CHAND							MOTHER'S NAME : SUSHMA KUMARI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	29	13	30	47	32	70	-	-	-	-	76	45	100	O	8.0	6	48.0	7.38	6.74	A++	Pass				
Legal Aspects of Business ( BBA502 )	28	13	30	47	32	70	-	-	-	-	75	45	100	O	8.0	6	48.0								
Investment Banking & Financial Services ( BBA503(A) )	27	13	30	39	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	24	13	30	37	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0								
										-	MO/MM- 278 / 400					TC-24	TCP - 177.00								

<b>UNIV ROLL NO : 5232670022</b> <b>CAND.NAME : AYUSH SHARMA</b> <b>REG NO : 23-HM-117</b>			FATHER'S NAME : VINOD KUMAR							MOTHER'S NAME : KIRAN SHARMA							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	20	13	30	42	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0	6.13	6.46	A	Pass	
Legal Aspects of Business ( BBA502 )	24	13	30	40	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	43	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	39	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0					
										-	MO/MM- 239 / 400					TC-24	TCP - 147.00					
<b>UNIV ROLL NO : 5232670023</b> <b>CAND.NAME : BANDANA KUMARI</b> <b>REG NO : 23-HM-89</b>			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : NIRMALA DEVI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	20	13	30	32*	32	70	-	-	-	1	52	45	100	B	5.5	6	33.0	5.50	-	B+	Pass	
Legal Aspects of Business ( BBA502 )	18	13	30	41	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	32*	32	70	-	-	-	1	48	45	100	C	5.0	6	30.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	35	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0					
										2	MO/MM- 211 / 400					TC-24	TCP - 132.00					
<b>UNIV ROLL NO : 5232670024</b> <b>CAND.NAME : DEBESH THAKUR</b> <b>REG NO : 23-HM-64</b>			FATHER'S NAME : AJAY KUMAR							MOTHER'S NAME : POONAM							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	18	13	30	40	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0	5.88	5.98	B+	Pass	
Legal Aspects of Business ( BBA502 )	13	13	30	38	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	39	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	16	13	30	41	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0					
										-	MO/MM- 221 / 400					TC-24	TCP - 141.00					
<b>UNIV ROLL NO : 5232670026</b> <b>CAND.NAME : DEEPAK</b> <b>REG NO : 23-HM-127</b>			FATHER'S NAME : HUKAM CHAND							MOTHER'S NAME : ANJU KUMARI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	13	13	30	32*	32	70	-	-	-	1	45	45	100	C	5.0	6	30.0	5.88	-	B+	Pass	
Legal Aspects of Business ( BBA502 )	18	13	30	42	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0					
Consumer Behaviour ( BBA503(B) )	13	13	30	55	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0					
Retail Management ( BBA504(B) )	16	13	30	33	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0					
										1	MO/MM- 222 / 400					TC-24	TCP - 141.00					
<b>UNIV ROLL NO : 5232670027</b> <b>CAND.NAME : DEEPALI JAMWAL</b> <b>REG NO : 23-HM-69</b>			FATHER'S NAME : ARUN KUMAR							MOTHER'S NAME : NISHA KUMARI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	18	13	30	37	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	6.13	6.18	A	Pass	
Legal Aspects of Business ( BBA502 )	13	13	30	44	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	51	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	37	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0					
										-	MO/MM- 231 / 400					TC-24	TCP - 147.00					

<b>UNIV ROLL NO : 5232670028</b> <b>CAND.NAME : DIPTI</b> <b>REG NO : 23-HM-149</b>		FATHER'S NAME : SUNIL KUMAR										MOTHER'S NAME : ANJNA					Exam Type : Fresh						
		<b>Paper Detail</b>																					
Paper Name		IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )		20	13	30	44	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0	6.38	6.86	A	Pass	
Legal Aspects of Business ( BBA502 )		27	13	30	44	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0					
Investment Banking & Financial Services ( BBA503(A) )		16	13	30	46	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0					
Investment Analysis & Portfolio Management ( BBA504(A) )		15	13	30	34	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0					
										-	MO/MM- 246 / 400					TC-24	TCP - 153.00						
<b>UNIV ROLL NO : 5232670029</b> <b>CAND.NAME : DISHANT CHOUDHARY</b> <b>REG NO : 23-HM-139</b>		FATHER'S NAME : RAKESH CHOUDHARY										MOTHER'S NAME : SUNITA DEVI					Exam Type : Fresh						
		<b>Paper Detail</b>																					
Paper Name		IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )		17	13	30	35	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0	-	-	-	-	
Legal Aspects of Business ( BBA502 )		13	13	30	45	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0					
Consumer Behaviour ( BBA503(B) )		20	13	30	-	32	70	-	-	-	-	-	45	100	**	0.0	6	0.0					
Retail Management ( BBA504(B) )		13	13	30	47	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0					
										-	MO/MM- / 400					TC-24	TCP - -						
<b>UNIV ROLL NO : 5232670030</b> <b>CAND.NAME : DIVYANSH</b> <b>REG NO : 23-HM-94</b>		FATHER'S NAME : RAJ KUMAR										MOTHER'S NAME : SEEMA KUMARI					Exam Type : Fresh						
		<b>Paper Detail</b>																					
Paper Name		IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )		15	13	30	39	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0	5.25	-	B	Pass	
Legal Aspects of Business ( BBA502 )		13	13	30	34	32	70	-	-	-	-	47	45	100	C	5.0	6	30.0					
Investment Banking & Financial Services ( BBA503(A) )		16	13	30	32*	32	70	-	-	-	3	48	45	100	C	5.0	6	30.0					
Investment Analysis & Portfolio Management ( BBA504(A) )		15	13	30	38	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0					
										3	MO/MM- 202 / 400					TC-24	TCP - 126.00						
<b>UNIV ROLL NO : 5232670031</b> <b>CAND.NAME : EAKTA</b> <b>REG NO : 23-HM-118</b>		FATHER'S NAME : VINOD KUMAR										MOTHER'S NAME : NEELAM KUMARI					Exam Type : Fresh						
		<b>Paper Detail</b>																					
Paper Name		IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )		20	13	30	35	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	6.13	-	A	Pass	
Legal Aspects of Business ( BBA502 )		26	13	30	38	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0					
Investment Banking & Financial Services ( BBA503(A) )		16	13	30	46	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0					
Investment Analysis & Portfolio Management ( BBA504(A) )		15	13	30	38	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0					
										-	MO/MM- 234 / 400					TC-24	TCP - 147.00						
<b>UNIV ROLL NO : 5232670033</b> <b>CAND.NAME : HIMANI</b> <b>REG NO : 23-HM-114</b>		FATHER'S NAME : THAKUR SANJAY										MOTHER'S NAME : SAPNA THAKUR					Exam Type : Fresh						
		<b>Paper Detail</b>																					
Paper Name		IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
		M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )		27	13	30	43	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0	8.13	7.63	O+	Pass	
Legal Aspects of Business ( BBA502 )		28	13	30	54	32	70	-	-	-	-	82	45	100	O+	8.5	6	51.0					
Consumer Behaviour ( BBA503(B) )		29	13	30	59	32	70	-	-	-	-	88	45	100	O++	9.0	6	54.0					
Retail Management ( BBA504(B) )		28	13	30	45	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0					
										-	MO/MM- 313 / 400					TC-24	TCP - 195.00						

<b>UNIV ROLL NO : 5232670034</b> <b>CAND.NAME : HIMANSHU</b> <b>REG NO : 23-HM-129</b>			FATHER'S NAME : KARAN SINGH							MOTHER'S NAME : ANITA KUMARI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	17	13	30	22	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Legal Aspects of Business ( BBA502 )	13	13	30	42	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	38	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	44	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0					
										-	MO/MM- / 400					TC-24	TCP --					
<b>UNIV ROLL NO : 5232670035</b> <b>CAND.NAME : KAJAL SADIYAL</b> <b>REG NO : 23-HM-108</b>			FATHER'S NAME : SUNIL KUMAR							MOTHER'S NAME : SARITA DEVI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	24	13	30	45	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0					
Legal Aspects of Business ( BBA502 )	25	13	30	51	32	70	-	-	-	-	76	45	100	O	8.0	6	48.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	40	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	6.63	6.36	A+	Pass	
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	35	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0					
										-	MO/MM- 251 / 400					TC-24	TCP - 159.00					
<b>UNIV ROLL NO : 5232670037</b> <b>CAND.NAME : KASHISH SHARMA</b> <b>REG NO : 23-HM-126</b>			FATHER'S NAME : BANARSI DASS							MOTHER'S NAME : KAMLESH KUMARI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	18	13	30	36	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0					
Legal Aspects of Business ( BBA502 )	13	13	30	50	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	32	32	70	-	-	-	-	48	45	100	C	5.0	6	30.0	5.75	-	B+	Pass	
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	42	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0					
										-	MO/MM- 222 / 400					TC-24	TCP - 138.00					
<b>UNIV ROLL NO : 5232670038</b> <b>CAND.NAME : KAVYA KAUNDAL</b> <b>REG NO : 23-HM-134</b>			FATHER'S NAME : MAHESH KUMAR							MOTHER'S NAME : NEELAMA DEVI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	18	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0					
Legal Aspects of Business ( BBA502 )	18	13	30	46	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0					
Investment Banking & Financial Services ( BBA503(A) )	17	13	30	41	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	21	13	30	42	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0					
										-	MO/MM- / 400					TC-24	TCP --					
<b>UNIV ROLL NO : 5232670039</b> <b>CAND.NAME : KHUSHBOO THAKUR</b> <b>REG NO : 23-HM-90</b>			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : MEENAKSHI THAKUR							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	29	13	30	63	32	70	-	-	-	-	92	45	100	S	9.5	6	57.0					
Legal Aspects of Business ( BBA502 )	30	13	30	55	32	70	-	-	-	-	85	45	100	O++	9.0	6	54.0					
Investment Banking & Financial Services ( BBA503(A) )	30	13	30	52	32	70	-	-	-	-	82	45	100	O+	8.5	6	51.0	8.75	8.20	O++	Pass	
Investment Analysis & Portfolio Management ( BBA504(A) )	29	13	30	48	32	70	-	-	-	-	77	45	100	O	8.0	6	48.0					
										-	MO/MM- 336 / 400					TC-24	TCP - 210.00					

<b>UNIV ROLL NO : 5232670040</b> <b>CAND.NAME : KOMAL THAKUR</b> <b>REG NO : 23-HM-88</b>			FATHER'S NAME : MADAN KUMAR						MOTHER'S NAME : ANUPMA KUMARI						Exam Type : Fresh							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	18	13	30	38	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	6.25	-	A	Pass	
Legal Aspects of Business ( BBA502 )	25	13	30	47	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	38	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	19	13	30	38	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0					
										-	MO/MM- 239 / 400					TC-24	TCP - 150.00					
<b>UNIV ROLL NO : 5232670042</b> <b>CAND.NAME : MINAKSHI SHARMA</b> <b>REG NO : 23-HM-73</b>			FATHER'S NAME : ASHOK KUMAR						MOTHER'S NAME : VEENA DEVI						Exam Type : Fresh							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	18	13	30	36	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0	6.88	6.49	A+	Pass	
Legal Aspects of Business ( BBA502 )	24	13	30	46	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0					
Investment Banking & Financial Services ( BBA503(A) )	21	13	30	49	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	50	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0					
										-	MO/MM- 261 / 400					TC-24	TCP - 165.00					
<b>UNIV ROLL NO : 5232670043</b> <b>CAND.NAME : MUSKAN</b> <b>REG NO : 23-HM-67</b>			FATHER'S NAME : ANIL KUMAR						MOTHER'S NAME : PRABH JYOTI						Exam Type : Fresh							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	21	13	30	17	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA501)	
Legal Aspects of Business ( BBA502 )	24	13	30	34	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	49	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	35	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0					
										-	MO/MM- / 400					TC-24	TCP - -					
<b>UNIV ROLL NO : 5232670044</b> <b>CAND.NAME : MUSKAN</b> <b>REG NO : 23-HM-91</b>			FATHER'S NAME : MANOJ KUMAR						MOTHER'S NAME : RASHMI DEVI						Exam Type : Fresh							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	27	13	30	50	32	70	-	-	-	-	77	45	100	O	8.0	6	48.0	7.13	7.06	A++	Pass	
Legal Aspects of Business ( BBA502 )	24	13	30	48	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0					
Investment Banking & Financial Services ( BBA503(A) )	23	13	30	44	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	41	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0					
										-	MO/MM- 274 / 400					TC-24	TCP - 171.00					
<b>UNIV ROLL NO : 5232670045</b> <b>CAND.NAME : NIKHIL DHIMAN</b> <b>REG NO : 23-HM-96</b>			FATHER'S NAME : RAJ KUMAR DHIMAN						MOTHER'S NAME : SUDESH KUMARI						Exam Type : Fresh							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	18	13	30	22	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA501)	
Legal Aspects of Business ( BBA502 )	18	13	30	52	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	48	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	35	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0					
										-	MO/MM- / 400					TC-24	TCP - -					

<b>UNIV ROLL NO : 5232670046</b> <b>CAND.NAME : NIKHIL THAKUR</b> <b>REG NO : 23-HM-156</b>			FATHER'S NAME : VIJAY KUMAR							MOTHER'S NAME : MEENA KUMARI							Exam Type : Fresh									
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	13	13	30	22	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA501,BBA 503(B),BBA50 4(B))					
Legal Aspects of Business ( BBA502 )	16	13	30	33	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0									
Consumer Behaviour ( BBA503(B) )	13	13	30	22	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Retail Management ( BBA504(B) )	16	13	30	12	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
										-	MO/MM- / 400					TC-24	TCP - -									
<b>UNIV ROLL NO : 5232670047</b> <b>CAND.NAME : NIKITA</b> <b>REG NO : 23-HM-70</b>			FATHER'S NAME : ARUN KUMAR							MOTHER'S NAME : ANITA KUMARI							Exam Type : Fresh									
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	22	13	30	41	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0	7.38	7.09	A++	Pass					
Legal Aspects of Business ( BBA502 )	27	13	30	46	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0									
Consumer Behaviour ( BBA503(B) )	26	13	30	58	32	70	-	-	-	-	84	45	100	O+	8.5	6	51.0									
Retail Management ( BBA504(B) )	26	13	30	39	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0									
										-	MO/MM- 285 / 400					TC-24	TCP - 177.00									
<b>UNIV ROLL NO : 5232670048</b> <b>CAND.NAME : NIKITA</b> <b>REG NO : 23-HM-109</b>			FATHER'S NAME : SURENDER KUMAR							MOTHER'S NAME : REETA DEVI							Exam Type : Fresh									
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	22	13	30	38	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0	6.63	-	A+	Pass					
Legal Aspects of Business ( BBA502 )	28	13	30	44	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0									
Investment Banking & Financial Services ( BBA503(A) )	18	13	30	45	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	19	13	30	38	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0									
										-	MO/MM- 252 / 400					TC-24	TCP - 159.00									
<b>UNIV ROLL NO : 5232670049</b> <b>CAND.NAME : NILAKSHI KUMARI</b> <b>REG NO : 23-HM-65</b>			FATHER'S NAME : ANIL KUMAR							MOTHER'S NAME : KIRAN BALA							Exam Type : Fresh									
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	29	13	30	53	32	70	-	-	-	-	82	45	100	O+	8.5	6	51.0	8.25	7.65	O+	Pass					
Legal Aspects of Business ( BBA502 )	29	13	30	54	32	70	-	-	-	-	83	45	100	O+	8.5	6	51.0									
Investment Banking & Financial Services ( BBA503(A) )	27	13	30	59	32	70	-	-	-	-	86	45	100	O++	9.0	6	54.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	28	13	30	38	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0									
										-	MO/MM- 317 / 400					TC-24	TCP - 198.00									
<b>UNIV ROLL NO : 5232670050</b> <b>CAND.NAME : PALAK</b> <b>REG NO : 23-HM-82</b>			FATHER'S NAME : HEM RAJ							MOTHER'S NAME : ISHRA DEVI							Exam Type : Fresh									
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	23	13	30	37	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0	6.75	6.55	A+	Pass					
Legal Aspects of Business ( BBA502 )	28	13	30	38	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0									
Investment Banking & Financial Services ( BBA503(A) )	23	13	30	45	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	22	13	30	38	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0									
										-	MO/MM- 254 / 400					TC-24	TCP - 162.00									

UNIV ROLL NO : 5232670051 CAND.NAME : PALAK CHANGRA REG NO : 23-HM-74			FATHER'S NAME : ASHOK KUMAR						MOTHER'S NAME : VEENA DEVI						Exam Type : Fresh											
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	18	13	30	23	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA501,BBA 503(A))					
Legal Aspects of Business ( BBA502 )	14	13	30	40	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0									
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	18	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	34	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0									
										-	MO/MM- / 400					TC-24	TCP --									
UNIV ROLL NO : 5232670052 CAND.NAME : PARAS THAKUR REG NO : 23-HM-136			FATHER'S NAME : PAWAN KUMAR						MOTHER'S NAME : SEEMA KUMARI						Exam Type : Fresh											
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	19	13	30	47	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0	7.38	7.02	A++	Pass					
Legal Aspects of Business ( BBA502 )	24	13	30	47	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0									
Consumer Behaviour ( BBA503(B) )	22	13	30	59	32	70	-	-	-	-	81	45	100	O+	8.5	6	51.0									
Retail Management ( BBA504(B) )	23	13	30	38	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0									
										-	MO/MM- 279 / 400					TC-24	TCP - 177.00									
UNIV ROLL NO : 5232670053 CAND.NAME : PARIKRAMA REG NO : 23-HM-86			FATHER'S NAME : KISHOR CHAND						MOTHER'S NAME : PUSHPA DEVI						Exam Type : Fresh											
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	18	13	30	32	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0	5.50	-	B+	Pass					
Legal Aspects of Business ( BBA502 )	13	13	30	33	32	70	-	-	-	-	46	45	100	C	5.0	6	30.0									
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	46	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	32	32	70	-	-	-	-	47	45	100	C	5.0	6	30.0									
										-	MO/MM- 205 / 400					TC-24	TCP - 132.00									
UNIV ROLL NO : 5232670054 CAND.NAME : PARINEETA REG NO : 23-HM-141			FATHER'S NAME : RAVI CHAND						MOTHER'S NAME : PUSHPA						Exam Type : Fresh											
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	29	13	30	42	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0	7.50	7.14	O	Pass					
Legal Aspects of Business ( BBA502 )	28	13	30	40	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0									
Consumer Behaviour ( BBA503(B) )	29	13	30	52	32	70	-	-	-	-	81	45	100	O+	8.5	6	51.0									
Retail Management ( BBA504(B) )	29	13	30	40	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0									
										-	MO/MM- 289 / 400					TC-24	TCP - 180.00									
UNIV ROLL NO : 5232670055 CAND.NAME : PAYAL DHIMAN REG NO : 23-HM-128			FATHER'S NAME : KARAM CHAND						MOTHER'S NAME : SAGARI DEVI						Exam Type : Fresh											
Paper Detail																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	18	13	30	38	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	6.75	6.41	A+	Pass					
Legal Aspects of Business ( BBA502 )	24	13	30	47	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0									
Investment Banking & Financial Services ( BBA503(A) )	19	13	30	46	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	20	13	30	41	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0									
										-	MO/MM- 253 / 400					TC-24	TCP - 162.00									

<b>UNIV ROLL NO : 5232670056</b> <b>CAND.NAME : PRATIBHA SINGH</b> <b>REG NO : 23-HM-131</b>			FATHER'S NAME : KISHOR CHAND						MOTHER'S NAME : PUSHPA DEVI						Exam Type : Fresh											
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	18	13	30	20	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA501)					
Legal Aspects of Business ( BBA502 )	13	13	30	44	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0									
Investment Banking & Financial Services ( BBA503(A) )	18	13	30	35	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	42	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0									
										-	MO/MM- / 400					TC-24	TCP --									
<b>UNIV ROLL NO : 5232670057</b> <b>CAND.NAME : PRINCE MANDHOTRA</b> <b>REG NO : 23-HM-101</b>			FATHER'S NAME : RANJIT SINGH						MOTHER'S NAME : SUNITA DEVI						Exam Type : Fresh											
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	17	13	30	35	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0	5.88	-	B+	Pass					
Legal Aspects of Business ( BBA502 )	13	13	30	43	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0									
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	51	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	32	32	70	-	-	-	-	47	45	100	C	5.0	6	30.0									
										-	MO/MM- 222 / 400					TC-24	TCP - 141.00									
<b>UNIV ROLL NO : 5232670058</b> <b>CAND.NAME : PRIYA SHARMA</b> <b>REG NO : 23-HM-100</b>			FATHER'S NAME : RAM LAL						MOTHER'S NAME : SAROJ						Exam Type : Fresh											
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	27	13	30	56	32	70	-	-	-	-	83	45	100	O+	8.5	6	51.0	7.75	7.76	O	Pass					
Legal Aspects of Business ( BBA502 )	29	13	30	53	32	70	-	-	-	-	82	45	100	O+	8.5	6	51.0									
Investment Banking & Financial Services ( BBA503(A) )	26	13	30	47	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	25	13	30	38	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0									
										-	MO/MM- 301 / 400					TC-24	TCP - 186.00									
<b>UNIV ROLL NO : 5232670059</b> <b>CAND.NAME : RAHUL SHARMA</b> <b>REG NO : 23-HM-142</b>			FATHER'S NAME : RAVI DUTT						MOTHER'S NAME : SHEELA DEVI						Exam Type : Fresh											
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	29	13	30	57	32	70	-	-	-	-	86	45	100	O++	9.0	6	54.0	8.50	8.41	O++	Pass					
Legal Aspects of Business ( BBA502 )	30	13	30	59	32	70	-	-	-	-	89	45	100	O++	9.0	6	54.0									
Investment Banking & Financial Services ( BBA503(A) )	30	13	30	59	32	70	-	-	-	-	89	45	100	O++	9.0	6	54.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	29	13	30	39	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0									
										-	MO/MM- 332 / 400					TC-24	TCP - 204.00									
<b>UNIV ROLL NO : 5232670060</b> <b>CAND.NAME : RAJAN KUMAR</b> <b>REG NO : 23-HM-83</b>			FATHER'S NAME : HIRA LAL						MOTHER'S NAME : ANJNA DEVI						Exam Type : Fresh											
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	17	13	30	38	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	6.25	-	A	Pass					
Legal Aspects of Business ( BBA502 )	22	13	30	38	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0									
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	49	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	36	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0									
										-	MO/MM- 231 / 400					TC-24	TCP - 150.00									

<b>UNIV ROLL NO : 5232670061</b> <b>CAND.NAME : RAJAT</b> <b>REG NO : 23-HM-153</b>			FATHER'S NAME : SURINDER KUMAR						MOTHER'S NAME : SUKANYA DEVI						Exam Type : Fresh											
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	18	13	30	27	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA501)					
Legal Aspects of Business ( BBA502 )	24	13	30	43	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0									
Investment Banking & Financial Services ( BBA503(A) )	19	13	30	46	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	33	32	70	-	-	-	-	48	45	100	C	5.0	6	30.0									
										-	MO/MM- / 400					TC-24	TCP --									
<b>UNIV ROLL NO : 5232670063</b> <b>CAND.NAME : RAJAT RANA</b> <b>REG NO : 23-HM-144</b>			FATHER'S NAME : SANJAY KUMAR						MOTHER'S NAME : SEEMA DEVI						Exam Type : Fresh											
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	17	13	30	34	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0	5.75	6.32	B+	Pass					
Legal Aspects of Business ( BBA502 )	18	13	30	34	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0									
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	39	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	42	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0									
										-	MO/MM- 215 / 400					TC-24	TCP - 138.00									
<b>UNIV ROLL NO : 5232670066</b> <b>CAND.NAME : RHYTHM SHARMA</b> <b>REG NO : 23-HM-71</b>			FATHER'S NAME : ARUN SHARMA						MOTHER'S NAME : REENA SHARMA						Exam Type : Fresh											
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	17	13	30	35	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0	6.00	-	A	Pass					
Legal Aspects of Business ( BBA502 )	13	13	30	42	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0									
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	46	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	43	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0									
										-	MO/MM- 227 / 400					TC-24	TCP - 144.00									
<b>UNIV ROLL NO : 5232670067</b> <b>CAND.NAME : RIDHI SHARMA</b> <b>REG NO : 23-HM-146</b>			FATHER'S NAME : SHANKER DUTT SHARMA						MOTHER'S NAME : ANITA KUMARI						Exam Type : Fresh											
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	29	13	30	47	32	70	-	-	-	-	76	45	100	O	8.0	6	48.0	8.13	7.69	O+	Pass					
Legal Aspects of Business ( BBA502 )	28	13	30	50	32	70	-	-	-	-	78	45	100	O	8.0	6	48.0									
Investment Banking & Financial Services ( BBA503(A) )	23	13	30	47	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	29	13	30	59	32	70	-	-	-	-	88	45	100	O++	9.0	6	54.0									
										-	MO/MM- 312 / 400					TC-24	TCP - 195.00									
<b>UNIV ROLL NO : 5232670069</b> <b>CAND.NAME : RITIK BHARDWAJ</b> <b>REG NO : 23-HM-140</b>			FATHER'S NAME : RAKESH KUMAR						MOTHER'S NAME : NOTAN						Exam Type : Fresh											
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	18	13	30	38	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	-	-	-	Reappear Paper Code (BBA502)					
Legal Aspects of Business ( BBA502 )	13	13	30	25	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Consumer Behaviour ( BBA503(B) )	20	13	30	48	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0									
Retail Management ( BBA504(B) )	13	13	30	33	32	70	-	-	-	-	46	45	100	C	5.0	6	30.0									
										-	MO/MM- / 400					TC-24	TCP --									

<b>UNIV ROLL NO : 5232670070</b> <b>CAND.NAME : RIYA</b> <b>REG NO : 23-HM-68</b>			FATHER'S NAME : ANIL KUMAR SINGH							MOTHER'S NAME : SAPNA DEVI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	29	13	30	50	32	70	-	-	-	-	79	45	100	O	8.0	6	48.0	8.00	7.74	O+	Pass				
Legal Aspects of Business ( BBA502 )	27	13	30	55	32	70	-	-	-	-	82	45	100	O+	8.5	6	51.0								
Consumer Behaviour ( BBA503(B) )	29	13	30	54	32	70	-	-	-	-	83	45	100	O+	8.5	6	51.0								
Retail Management ( BBA504(B) )	29	13	30	40	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0								
										-	MO/MM- 313 / 400					TC-24	TCP - 192.00								
<b>UNIV ROLL NO : 5232670071</b> <b>CAND.NAME : ROHAN THAKUR</b> <b>REG NO : 23-HM-121</b>			FATHER'S NAME : VIPIN KUMAR							MOTHER'S NAME : NISHA KUMARI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	17	13	30	32	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0	6.38	-	A	Pass				
Legal Aspects of Business ( BBA502 )	20	13	30	50	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0								
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	51	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	41	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0								
										-	MO/MM- 242 / 400					TC-24	TCP - 153.00								
<b>UNIV ROLL NO : 5232670072</b> <b>CAND.NAME : ROHIT CHAUDHARY</b> <b>REG NO : 23-HM-98</b>			FATHER'S NAME : RAJESH KUMAR							MOTHER'S NAME : SARLA DEVI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	17	13	30	35	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0	5.75	-	B+	Pass				
Legal Aspects of Business ( BBA502 )	13	13	30	44	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0								
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	41	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	37	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0								
										-	MO/MM- 218 / 400					TC-24	TCP - 138.00								
<b>UNIV ROLL NO : 5232670073</b> <b>CAND.NAME : ROHIT KUMAR</b> <b>REG NO : 23-HM-155</b>			FATHER'S NAME : SUSHIL KUMAR							MOTHER'S NAME : REKHA KUMARI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	18	13	30	37	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	6.13	6.41	A	Pass				
Legal Aspects of Business ( BBA502 )	24	13	30	36	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0								
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	46	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	36	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0								
										-	MO/MM- 228 / 400					TC-24	TCP - 147.00								
<b>UNIV ROLL NO : 5232670074</b> <b>CAND.NAME : SAHIL</b> <b>REG NO : 23-HM-107</b>			FATHER'S NAME : SUNIL KUMAR							MOTHER'S NAME : NEELAM KUMARI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	24	13	30	39	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0	7.13	6.30	A++	Pass				
Legal Aspects of Business ( BBA502 )	25	13	30	35	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0								
Consumer Behaviour ( BBA503(B) )	25	13	30	54	32	70	-	-	-	-	79	45	100	O	8.0	6	48.0								
Retail Management ( BBA504(B) )	24	13	30	48	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0								
										-	MO/MM- 274 / 400					TC-24	TCP - 171.00								

<b>UNIV ROLL NO : 5232670075</b> <b>CAND.NAME : SAURABH DOGRA</b> <b>REG NO : 23-HM-152</b>	FATHER'S NAME : SURESH KUMAR DOGRA										MOTHER'S NAME : PUSHPA KUMARI				Exam Type : Fresh										
	<b>Paper Detail</b>																								
	Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	29	13	30	51	32	70	-	-	-	-	80	45	100	O+	8.5	6	51.0	8.13	7.29	O+	Pass				
Legal Aspects of Business ( BBA502 )	29	13	30	43	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0								
Consumer Behaviour ( BBA503(B) )	29	13	30	46	32	70	-	-	-	-	75	45	100	O	8.0	6	48.0								
Retail Management ( BBA504(B) )	29	13	30	52	32	70	-	-	-	-	81	45	100	O+	8.5	6	51.0								
											-	MO/MM- 308 / 400				TC-24	TCP - 195.00								
<b>UNIV ROLL NO : 5232670076</b> <b>CAND.NAME : SEHJAL</b> <b>REG NO : 23-HM-122</b>	FATHER'S NAME : VIRENDER KUMAR										MOTHER'S NAME : ANU DEVI				Exam Type : Fresh										
	<b>Paper Detail</b>																								
	Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	25	13	30	40	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0	6.75	6.97	A+	Pass				
Legal Aspects of Business ( BBA502 )	27	13	30	33	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0								
Investment Banking & Financial Services ( BBA503(A) )	18	13	30	55	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	16	13	30	41	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0								
											-	MO/MM- 255 / 400				TC-24	TCP - 162.00								
<b>UNIV ROLL NO : 5232670077</b> <b>CAND.NAME : SHAGUN SHARMA</b> <b>REG NO : 23-HM-81</b>	FATHER'S NAME : HANSRAJ										MOTHER'S NAME : ANU SHARMA				Exam Type : Fresh										
	<b>Paper Detail</b>																								
	Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	25	13	30	38	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0	7.00	6.91	A++	Pass				
Legal Aspects of Business ( BBA502 )	27	13	30	47	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0								
Investment Banking & Financial Services ( BBA503(A) )	23	13	30	50	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	21	13	30	42	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0								
											-	MO/MM- 273 / 400				TC-24	TCP - 168.00								
<b>UNIV ROLL NO : 5232670078</b> <b>CAND.NAME : SHALINI</b> <b>REG NO : 23-HM-138</b>	FATHER'S NAME : RAKESH CHAND										MOTHER'S NAME : SURESHNA KUMARI				Exam Type : Fresh										
	<b>Paper Detail</b>																								
	Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	21	13	30	38	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0	6.13	6.58	A	Pass				
Legal Aspects of Business ( BBA502 )	14	13	30	41	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
Investment Banking & Financial Services ( BBA503(A) )	19	13	30	46	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	39	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0								
											-	MO/MM- 233 / 400				TC-24	TCP - 147.00								
<b>UNIV ROLL NO : 5232670079</b> <b>CAND.NAME : SHASHI KUMAR</b> <b>REG NO : 23-HM-111</b>	FATHER'S NAME : SURESH KUMAR										MOTHER'S NAME : NISHA DEVI				Exam Type : Fresh										
	<b>Paper Detail</b>																								
	Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.		
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	17	13	30	26	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA501)				
Legal Aspects of Business ( BBA502 )	24	13	30	47	32	70	-	-	-	-	71	45	100	A++	7.5	6	45.0								
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	43	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	40	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0								
											-	MO/MM- / 400				TC-24	TCP - -								

<b>UNIV ROLL NO : 5232670080</b> <b>CAND.NAME : SHIVANI</b> <b>REG NO : 23-HM-106</b>			FATHER'S NAME : SUBHASH CHAND							MOTHER'S NAME : SANTOSH KUMARI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	20	13	30	35	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	5.38	-	B	Pass	
Legal Aspects of Business ( BBA502 )	13	13	30	32	32	70	-	-	-	-	45	45	100	C	5.0	6	30.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	34	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	32	32	70	-	-	-	-	47	45	100	C	5.0	6	30.0					
										-	MO/MM- 197 / 400					TC-24	TCP - 129.00					
<b>UNIV ROLL NO : 5232670081</b> <b>CAND.NAME : SHUBHAM KUMAR</b> <b>REG NO : 23-HM-84</b>			FATHER'S NAME : JOGINDER SINGH							MOTHER'S NAME : SUMAN LATA							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	20	13	30	35	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	6.00	-	A	Pass	
Legal Aspects of Business ( BBA502 )	18	13	30	39	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0					
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	40	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	21	13	30	34	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0					
										-	MO/MM- 223 / 400					TC-24	TCP - 144.00					
<b>UNIV ROLL NO : 5232670082</b> <b>CAND.NAME : SHUBHAM SHARMA</b> <b>REG NO : 23-HM-105</b>			FATHER'S NAME : SHASHI KUMAR							MOTHER'S NAME : REENA DEVI							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	23	13	30	45	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0	7.13	6.64	A++	Pass	
Legal Aspects of Business ( BBA502 )	27	13	30	48	32	70	-	-	-	-	75	45	100	O	8.0	6	48.0					
Investment Banking & Financial Services ( BBA503(A) )	18	13	30	43	32	70	-	-	-	-	61	45	100	A	6.5	6	39.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	22	13	30	46	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0					
										-	MO/MM- 272 / 400					TC-24	TCP - 171.00					
<b>UNIV ROLL NO : 5232670083</b> <b>CAND.NAME : SHYAMLI RANA</b> <b>REG NO : 23-HM-158</b>			FATHER'S NAME : VIJENDRA SINGH RANA							MOTHER'S NAME : RADHIKA RANA							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	29	13	30	46	32	70	-	-	-	-	75	45	100	O	8.0	6	48.0	8.13	8.08	O+	Pass	
Legal Aspects of Business ( BBA502 )	30	13	30	52	32	70	-	-	-	-	82	45	100	O+	8.5	6	51.0					
Consumer Behaviour ( BBA503(B) )	29	13	30	48	32	70	-	-	-	-	77	45	100	O	8.0	6	48.0					
Retail Management ( BBA504(B) )	30	13	30	47	32	70	-	-	-	-	77	45	100	O	8.0	6	48.0					
										-	MO/MM- 311 / 400					TC-24	TCP - 195.00					
<b>UNIV ROLL NO : 5232670084</b> <b>CAND.NAME : SIYA</b> <b>REG NO : 23-HM-79</b>			FATHER'S NAME : DAVINDER SINGH							MOTHER'S NAME : MANJU BALA							Exam Type : Fresh					
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	20	13	30	35	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	6.63	7.17	A+	Pass	
Legal Aspects of Business ( BBA502 )	27	13	30	46	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0					
Investment Banking & Financial Services ( BBA503(A) )	20	13	30	43	32	70	-	-	-	-	63	45	100	A	6.5	6	39.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	21	13	30	43	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0					
										-	MO/MM- 255 / 400					TC-24	TCP - 159.00					

<b>UNIV ROLL NO : 5232670085</b> <b>CAND.NAME : SNEHA</b> <b>REG NO : 23-HM-147</b>			FATHER'S NAME : SUBHASH CHAND							MOTHER'S NAME : MAMTA DEVI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	20	13	30	33	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0	6.75	6.39	A+	Pass				
Legal Aspects of Business ( BBA502 )	23	13	30	47	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0								
Consumer Behaviour ( BBA503(B) )	22	13	30	46	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0								
Retail Management ( BBA504(B) )	24	13	30	41	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0								
										-	MO/MM- 256 / 400					TC-24	TCP - 162.00								
<b>UNIV ROLL NO : 5232670086</b> <b>CAND.NAME : SOURAV DHATWALIA</b> <b>REG NO : 23-HM-110</b>			FATHER'S NAME : SURENDER KUMAR							MOTHER'S NAME : VEENA DEVI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	27	13	30	35	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0	7.50	7.22	O	Pass				
Legal Aspects of Business ( BBA502 )	27	13	30	47	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0								
Investment Banking & Financial Services ( BBA503(A) )	28	13	30	50	32	70	-	-	-	-	78	45	100	O	8.0	6	48.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	27	13	30	52	32	70	-	-	-	-	79	45	100	O	8.0	6	48.0								
										-	MO/MM- 293 / 400					TC-24	TCP - 180.00								
<b>UNIV ROLL NO : 5232670087</b> <b>CAND.NAME : SURYANSH</b> <b>REG NO : 23-HM-120</b>			FATHER'S NAME : VINOD KUMAR							MOTHER'S NAME : PINKI DEVI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	18	13	30	35	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0	5.75	-	B+	Pass				
Legal Aspects of Business ( BBA502 )	18	13	30	42	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0								
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	37	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	38	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0								
										-	MO/MM- 219 / 400					TC-24	TCP - 138.00								
<b>UNIV ROLL NO : 5232670088</b> <b>CAND.NAME : TAMANNA SONI</b> <b>REG NO : 23-HM-78</b>			FATHER'S NAME : CHANDER KANT SONI							MOTHER'S NAME : RAMA KUMARI							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	23	13	30	43	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0	7.13	6.63	A++	Pass				
Legal Aspects of Business ( BBA502 )	24	13	30	51	32	70	-	-	-	-	75	45	100	O	8.0	6	48.0								
Investment Banking & Financial Services ( BBA503(A) )	17	13	30	49	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	47	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0								
										-	MO/MM- 269 / 400					TC-24	TCP - 171.00								
<b>UNIV ROLL NO : 5232670090</b> <b>CAND.NAME : VANSHIKA</b> <b>REG NO : 23-HM-133</b>			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : SNEH LATA							Exam Type : Fresh								
<b>Paper Detail</b>																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	23	13	30	49	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0	7.63	7.41	O	Pass				
Legal Aspects of Business ( BBA502 )	24	13	30	53	32	70	-	-	-	-	77	45	100	O	8.0	6	48.0								
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	50	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	59	32	70	-	-	-	-	76	45	100	O	8.0	6	48.0								
										-	MO/MM- 291 / 400					TC-24	TCP - 183.00								

<b>UNIV ROLL NO : 5232670092</b> <b>CAND.NAME : VARUN KUMAR</b> <b>REG NO : 23-HM-154</b>			FATHER'S NAME : SURINDER SINGH							MOTHER'S NAME : ALKA DEVI							Exam Type : Fresh									
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	18	13	30	18	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0				Reappear Paper Code (BBA501)					
Legal Aspects of Business ( BBA502 )	13	13	30	51	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0									
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	46	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	33	32	70	-	-	-	-	48	45	100	C	5.0	6	30.0									
										-	MO/MM- / 400					TC-24	TCP - -									
<b>UNIV ROLL NO : 5232670093</b> <b>CAND.NAME : VIKRANT THAKUR</b> <b>REG NO : 23-HM-157</b>			FATHER'S NAME : VIJAY SINGH							MOTHER'S NAME : BANDNA KUMARI							Exam Type : Fresh									
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	18	13	30	41	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0	6.63	-	A+	Pass					
Legal Aspects of Business ( BBA502 )	24	13	30	42	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0									
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	46	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	51	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0									
										-	MO/MM- 253 / 400					TC-24	TCP - 159.00									
<b>UNIV ROLL NO : 5232670094</b> <b>CAND.NAME : VINAY SHARMA</b> <b>REG NO : 23-HM-132</b>			FATHER'S NAME : MADAN LAL							MOTHER'S NAME : SANTOSH KUMARI							Exam Type : Fresh									
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	18	13	30	32*	32	70	-	-	-	1	50	45	100	B	5.5	6	33.0	6.25	-	A	Pass					
Legal Aspects of Business ( BBA502 )	19	13	30	47	32	70	-	-	-	-	66	45	100	A+	7.0	6	42.0									
Investment Banking & Financial Services ( BBA503(A) )	16	13	30	46	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	15	13	30	42	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0									
										1	MO/MM- 235 / 400					TC-24	TCP - 150.00									
<b>UNIV ROLL NO : 5220360002</b> <b>CAND.NAME : ABHINAV PATIAL</b> <b>REG NO : 22-HM-1190</b>			FATHER'S NAME : MANJINDER KUMAR							MOTHER'S NAME : SEEMA DEVI							Exam Type : Re-Appear									
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	22	13	30	32	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0	6.00	6.45	A	Pass					
Legal Aspects of Business ( BBA502 )	16	13	30	41^	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0									
Investment Banking & Financial Services ( BBA503(A) )	24	13	30	32	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	26	13	30	36	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0									
										-	MO/MM- 229 / 400					TC-24	TCP - 144.00									
<b>UNIV ROLL NO : 5220360012</b> <b>CAND.NAME : ANAMIKA</b> <b>REG NO : 22-HM-1229</b>			FATHER'S NAME : SURESH SINGH							MOTHER'S NAME : REENA DEVI							Exam Type : Re-Appear									
<b>Paper Detail</b>																										
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	28	13	30	37^	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0	7.63	7.01	O	Pass					
Legal Aspects of Business ( BBA502 )	25	13	30	50^	32	70	-	-	-	-	75	45	100	O	8.0	6	48.0									
Investment Banking & Financial Services ( BBA503(A) )	28	13	30	44	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	27	13	30	49	32	70	-	-	-	-	76	45	100	O	8.0	6	48.0									
										-	MO/MM- 288 / 400					TC-24	TCP - 183.00									

<b>UNIV ROLL NO : 5220360014</b> <b>CAND.NAME : ANSIK RANA</b> <b>REG NO : 22-HM-1217</b>			FATHER'S NAME : PARVESH KUMAR						MOTHER'S NAME : REENA KUMARI						Exam Type : Re-Appear							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	23	13	30	34	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0	6.13	-	A	Pass	
Legal Aspects of Business ( BBA502 )	20	13	30	42^	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0					
Investment Banking & Financial Services ( BBA503(A) )	26	13	30	33	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	26	13	30	32^	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0					
										-	MO/MM- 236 / 400					TC-24	TCP - 147.00					
<b>UNIV ROLL NO : 5220360015</b> <b>CAND.NAME : ATUL THAKUR</b> <b>REG NO : 22-HM-1203</b>			FATHER'S NAME : ASHOK KUMAR						MOTHER'S NAME : VINOD KUMARI						Exam Type : Re-Appear							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	24	13	30	36^	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0	6.25	6.55	A	Pass	
Legal Aspects of Business ( BBA502 )	22	13	30	47^	32	70	-	-	-	-	69	45	100	A+	7.0	6	42.0					
Investment Banking & Financial Services ( BBA503(A) )	25	13	30	32	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	34	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0					
										-	MO/MM- 237 / 400					TC-24	TCP - 150.00					
<b>UNIV ROLL NO : 5220360016</b> <b>CAND.NAME : AYUSH</b> <b>REG NO : 22-HM-1199</b>			FATHER'S NAME : JOGINDER SINGH						MOTHER'S NAME : JAMNA DEVI						Exam Type : Re-Appear							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	20	13	30	36	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0	5.75	6.33	B+	Pass	
Legal Aspects of Business ( BBA502 )	16	13	30	33	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0					
Investment Banking & Financial Services ( BBA503(A) )	25	13	30	33	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	25	13	30	33^	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0					
										-	MO/MM- 221 / 400					TC-24	TCP - 138.00					
<b>UNIV ROLL NO : 5220360024</b> <b>CAND.NAME : JYOTI SHARMA</b> <b>REG NO : 22-HM-1182</b>			FATHER'S NAME : VIJAY SHARMA						MOTHER'S NAME : RANJNA KUMARI						Exam Type : Re-Appear							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	23	13	30	32^	32	70	-	-	-	1	55	45	100	B+	6.0	6	36.0	6.50	-	A+	Pass	
Legal Aspects of Business ( BBA502 )	23	13	30	50^	32	70	-	-	-	-	73	45	100	A++	7.5	6	45.0					
Investment Banking & Financial Services ( BBA503(A) )	26	13	30	34	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	39	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0					
										1	MO/MM- 244 / 400					TC-24	TCP - 156.00					
<b>UNIV ROLL NO : 5220360029</b> <b>CAND.NAME : MANJEET SINGH</b> <b>CHANDEL</b> <b>REG NO : 22-HM-1207</b>			FATHER'S NAME : YOGRAJ						MOTHER'S NAME : NIRMLA DEVI						Exam Type : Re-Appear							
<b>Paper Detail</b>																						
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M									
QuantitativeTechniques for Management ( BBA501 )	23	13	30	32	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	5.88	6.40	B+	Pass	
Legal Aspects of Business ( BBA502 )	20	13	30	36^	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0					
Investment Banking & Financial Services ( BBA503(A) )	25	13	30	34	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0					
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	33	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0					
										-	MO/MM- 220 / 400					TC-24	TCP - 141.00					

UNIV ROLL NO : 5220360030 CAND.NAME : MAYANK CHANDEL REG NO : 22-HM-1204		FATHER'S NAME : RANJEET SINGH										MOTHER'S NAME : ANJU BALA										Exam Type : Re-Appear				
		Paper Detail																								
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	23	13	30	32	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0	6.00	6.53	A	Pass					
Legal Aspects of Business ( BBA502 )	20	13	30	35^	32	70	-	-	-	-	55	45	100	B+	6.0	6	36.0									
Investment Banking & Financial Services ( BBA503(A) )	25	13	30	37	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	33	32	70	-	-	-	-	50	45	100	B	5.5	6	33.0									
										-	MO/MM- 222 / 400					TC-24	TCP - 144.00									
UNIV ROLL NO : 5220360031 CAND.NAME : MEGHA RANA REG NO : 22-HM-1177		FATHER'S NAME : RAKESH KUMAR										MOTHER'S NAME : NIRMLA DEVI										Exam Type : Re-Appear				
		Paper Detail																								
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	28	13	30	40	32	70	-	-	-	-	68	45	100	A+	7.0	6	42.0	-	-	-	Reappear Paper Code (BBA503(A))					
Legal Aspects of Business ( BBA502 )	24	13	30	32	32	70	-	-	-	-	56	45	100	B+	6.0	6	36.0									
Investment Banking & Financial Services ( BBA503(A) )	26	13	30	19^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	27	13	30	33	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0									
										-	MO/MM- / 400					TC-24	TCP - -									
UNIV ROLL NO : 5220360036 CAND.NAME : NIKHIL SHARMA REG NO : 22-HM-1218		FATHER'S NAME : NARESH SHARMA										MOTHER'S NAME : KUSUM LATA										Exam Type : Re-Appear				
		Paper Detail																								
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	16	13	30	22^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA501)					
Legal Aspects of Business ( BBA502 )	20	13	30	33^	32	70	-	-	-	-	53	45	100	B	5.5	6	33.0									
Consumer Behaviour ( BBA503(B) )	20	13	30	32	32	70	-	-	-	-	52	45	100	B	5.5	6	33.0									
Retail Management ( BBA504(B) )	25	13	30	34	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0									
										-	MO/MM- / 400					TC-24	TCP - -									
UNIV ROLL NO : 5220360037 CAND.NAME : NIKHIL THAKUR REG NO : 22-HM-1176		FATHER'S NAME : ANIL KUMAR										MOTHER'S NAME : MANJULA DEVI										Exam Type : Re-Appear				
		Paper Detail																								
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	24	13	30	36^	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0	6.50	6.41	A+	Pass					
Legal Aspects of Business ( BBA502 )	20	13	30	40	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0									
Consumer Behaviour ( BBA503(B) )	25	13	30	34	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0									
Retail Management ( BBA504(B) )	25	13	30	42	32	70	-	-	-	-	67	45	100	A+	7.0	6	42.0									
										-	MO/MM- 246 / 400					TC-24	TCP - 156.00									
UNIV ROLL NO : 5220360049 CAND.NAME : SAHIL REG NO : 22-HM-1221		FATHER'S NAME : RAJESH KUMAR										MOTHER'S NAME : VIJAY KUMARI										Exam Type : Re-Appear				
		Paper Detail																								
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.				
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M													
QuantitativeTechniques for Management ( BBA501 )	24	13	30	50^	32	70	-	-	-	-	74	45	100	A++	7.5	6	45.0	7.25	6.80	A++	Pass					
Legal Aspects of Business ( BBA502 )	20	13	30	45^	32	70	-	-	-	-	65	45	100	A+	7.0	6	42.0									
Investment Banking & Financial Services ( BBA503(A) )	26	13	30	34	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0									
Investment Analysis & Portfolio Management ( BBA504(A) )	26	13	30	49	32	70	-	-	-	-	75	45	100	O	8.0	6	48.0									
										-	MO/MM- 274 / 400					TC-24	TCP - 174.00									

UNIV ROLL NO : 5220360051 CAND.NAME : SHAGUN SHARMA REG NO : 22-HM-1192			FATHER'S NAME : NARESH KUMAR						MOTHER'S NAME : MEENA DEVI						Exam Type : Re-Appear										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	25	13	30	32^	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0	6.38	6.66	A	Pass				
Legal Aspects of Business ( BBA502 )	18	13	30	33	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0								
Investment Banking & Financial Services ( BBA503(A) )	25	13	30	45	32	70	-	-	-	-	70	45	100	A++	7.5	6	45.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	25	13	30	35	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0								
										-	MO/MM- 238 / 400					TC-24	TCP - 153.00								
UNIV ROLL NO : 5220360053 CAND.NAME : SHIVANG THAKUR REG NO : 22-HM-1184			FATHER'S NAME : SHYAM SINGH						MOTHER'S NAME : SUMAN KUMARI						Exam Type : Re-Appear										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	23	13	30	11^	32	70	-	-	-	-	-	45	100	F	0.0	6	0.0	-	-	-	Reappear Paper Code (BBA501)				
Legal Aspects of Business ( BBA502 )	18	13	30	36	32	70	-	-	-	-	54	45	100	B	5.5	6	33.0								
Investment Banking & Financial Services ( BBA503(A) )	25	13	30	34	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	32	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0								
										-	MO/MM- / 400					TC-24	TCP - -								
UNIV ROLL NO : 5220360056 CAND.NAME : SOMAY JASWAL REG NO : 22-HM-1198			FATHER'S NAME : PAWAN KUMAR						MOTHER'S NAME : VIJAY LUXMI						Exam Type : Re-Appear										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	25	13	30	35^	32	70	-	-	-	-	60	45	100	A	6.5	6	39.0	6.50	7.12	A+	Pass				
Legal Aspects of Business ( BBA502 )	17	13	30	45	32	70	-	-	-	-	62	45	100	A	6.5	6	39.0								
Investment Banking & Financial Services ( BBA503(A) )	26	13	30	46	32	70	-	-	-	-	72	45	100	A++	7.5	6	45.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	17	13	30	34	32	70	-	-	-	-	51	45	100	B	5.5	6	33.0								
										-	MO/MM- 245 / 400					TC-24	TCP - 156.00								
UNIV ROLL NO : 5220360061 CAND.NAME : VIKAS CHANDEL REG NO : 22-HM-1183			FATHER'S NAME : MEHAR SINGH						MOTHER'S NAME : REETA						Exam Type : Re-Appear										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	23	13	30	41^	32	70	-	-	-	-	64	45	100	A	6.5	6	39.0	6.13	6.57	A	Pass				
Legal Aspects of Business ( BBA502 )	24	13	30	35	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
Investment Banking & Financial Services ( BBA503(A) )	25	13	30	33	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0								
Investment Analysis & Portfolio Management ( BBA504(A) )	25	13	30	32	32	70	-	-	-	-	57	45	100	B+	6.0	6	36.0								
										-	MO/MM- 238 / 400					TC-24	TCP - 147.00								
UNIV ROLL NO : 5220960020 CAND.NAME : RAHUL MEHTA REG NO : 22-GST-390			FATHER'S NAME : MUKESH KUMAR						MOTHER'S NAME : ANJU KUMARI						Exam Type : Re-Appear										
Paper Detail																									
Paper Name	IA			TE			PR			GR	Tot.			Grd.	GP	CR	CP (CR*GP)	SGPA	CGPA	Grade	Result/ Status	Dis.			
	M.O	M.P.M	M.M	M.O	M.P.M	M.M	M.O	M.P.M	M.M		M.O	M.P.M	M.M												
QuantitativeTechniques for Management ( BBA501 )	24	13	30	35^	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0	5.75	6.21	B+	Pass				
Legal Aspects of Business ( BBA502 )	16	13	30	33	32	70	-	-	-	-	49	45	100	C	5.0	6	30.0								
Consumer Behaviour ( BBA503(B) )	25	13	30	33	32	70	-	-	-	-	58	45	100	B+	6.0	6	36.0								
Retail Management ( BBA504(B) )	25	13	30	34	32	70	-	-	-	-	59	45	100	B+	6.0	6	36.0								
										-	MO/MM- 225 / 400					TC-24	TCP - 138.00								

**This result is declared as per the university ordinance and result declaration rules adopted by the university from time to time. The result is being processed through ERP system on the basis of the awards entered and verified by the colleges and the concerned examination branches.**

**A.R. / D.R. (EXAM-II)  
H.P.University, Shimla-5.**

**Dated : .....**

**Controller of Examinations  
H.P.University, Shimla-5.**

**Note: This TR is also available on the Concerned Examination Branches, College id's and Department Chairman id's for their information and record purpose.**

**A.R. / D.R. (EXAM-II)  
H.P.University, Shimla-5.**